1 [ 2 3 \ 4 5 6 7 8 \ 9
Customer sign 2-M4x0.7Px6DP,(Stroke<750) HIWIN CONFIDENTIAL
N 6-M4x0.7Px6DP, (Stroke>750 N = =
N XOIPODPCIOKE0) o 5 N BB RISHT | BEER
° 140] 11T 1401 ° 1 (RA-BREBX) PF Number : \
| c%
1 ° ] soEmE | BUEE
doavp) || IMGOTPXEDP aove) [ | v e BN e s R &
125 3x40=120 125 3x40=120
s T . . - K Digital 0.1 um optical +1 um +2 um
2xN-295.5 THRU, 210x6DP 5m or 7TmSEHRIMBBELE . For HIWIN drive 5m or 7m 3% HRSMBHEEE, - - LwIN drive ot B4 pm opt K b
28 H7 x 8DP - 2m or 4m 1 g 2m or 4m
9 9110_7 @8 H7 x8DP G Digital 1 um optical +3 um +6 um
9 _ 2 AT 33
( T - 0 T + ] } T 5 ® ¥+
- # g Nl QT T 17O E Digital 1 pm magnetic +3 um +6 um
13 [ '
S8 112 gy o - - - - - - - - o BERY | oo | M R o E
“l2g \ Chy E(kg)
82 , LT [ N [LA | LB |[LC| A B
o ES S o L ) @ 200 | 240 [1130] 11 |1064| 85 | 960 |1063 43.4
Cn__ 32 = = = : P ——r | - .
] 185 8-M5x0.8Px10DP 185 j
BROWN g 12-26v 17 5 -l YT o . 250 | 290 [1180| 11 [1114| 110 | 960 [1113| - |45.0
BLACK g OUTPUT T20(TYP) 8-M5x0.8Px10DP 370 300 | 340 [1230| 11 |1164| 135 | 960 |1163| - |46.5
BLUE o (N-3)x120=LC 18
- A 3 350 | 390 [1280| 11 [1214 160 | 960 [1213| - | 48.1
A:NPN.NC,B:PNP.NC 2-03 THRU,  2-23 THRU,
400 | 440 (1330 13 |1264| 65 |1200 (1263 | - |49.7
s - @8 H7x10DP @8 H7x10DP . .
(RB-ITZFARAMLK) X1 + Direction —> S : <— X2 + Direction 450 | 490 [1380] 13 [1314| 90 [1200 [1313 51.2
Motor wiring diagram 10(-Stopper) ST+10 (+Stopper) -
-~ — 5(imit) ST+5 (+Limi) 500 | 540 [1430] 13 |1364 | 115 |1200[1363| - |52.8
9 oo ST(Effective stroke) | 240 550 | 590 [1480| 15 [1414| 20 [1440|1413| - |54.4
v Black-2 H T | m
m T == ...% 600 | 640 [1530| 15 |1464 | 45 |1440 1463 | - |55.9
aCk—1 11T 1 T
w Black-3 H i 650 690 |1580| 15 |1514| 70 (14401513 - |[57.5
GND |[Green/Yellow L L 280 L L
T+ Black-5 240 ST(Effective stroke) 700 740 |1630| 15 |1564 | 95 |[1440|1563 - 59.0
T- Black-6 ST+5 (+Limi) S(imit) 750 | 790 [1680| 15 [1614| 120 [1440|1613| - |606
Shield ST+10 (+Stopper) 10(-Stopper) :
(RC-EERIR) 800 | 840 [1730| 15 |1664 | 145 | 1440|1663 [ 600 | 62.2
. _ _ . 850 | 890 |[1780| 17 |1714| 50 |1680 1713 | 600 | 63.7
5 1. B/ LMSSA-20C200-2-000000(1752)-0(FmE) I 42). 301 (1K 12 5 B8)-S-S-A0.
(RS R RIS R B 48) 900 | 940 [1830| 17 |1764| 75 |1680 1763 | 600 | 65.3
2. BEERE &:5.55kg, HEAEH 1 145N, BREHES: 580N . Positioning Measurement-Digital 950 | 990 |[1880| 17 |1814 | 100 | 1680|1813 | 600 | 66.9
5 B 3m HQo AT EY -Sub (Male-
3. HIWIN ﬁgﬁ?ﬁﬁ“ﬁmz%_(f; CTEHR. Function | Soral | Color [ -Dob e TOPL 1000 | 1040 [1930 | 17 [1864 | 125 1680|1863 | 600 | 68.4
4. LREMKETLE S CETRA. Power  (—or——orown 1 AL 1050 | 1090 |1980 1914 | 150 [1680 [1913 | 600 | 70.0
5. ZAREE HIWIN SEBhzs , HERERREHBERER. oo 2 12 :
b BELEESERES. Incremental - Valon 5 MMKROSVSTEMCORP TYPE SSA-20C200 (Stroke200~1050)
__ signals + ue
7HBERTFES AR EERES ’ T B CUSTOMER \ DATE{Apr.08.20
> o = rovGHY| R @ ——1| SCALE | MATERIAL \ own | B2 1R &
Reference mark
Ini-er Inngr:};ield 15 T case evoa :av%va W 1:X FINISH \ ‘ \ cHK ﬁﬁﬁ
Shield Outer | Outer Shield | case TOLERANCE mm PART NO \ APPD E,E*Eﬁ
ﬁD'%EW{ﬁﬁ '|L'Jg 6 ° 30 % 120 120300 300600 6010200 12204000 O\QEEO NAME DWG NO SHEET
ITEM| DATE [MODIFIED DESCRIPTION ECN NO. CHK APPD ( ’ ) +01 |02 | +03 |04 | z05 |08 | 10 | :15 | APPROVAL \ ‘A1 1-2




1 \ 2 3 \ 4 5 6 7 8 \ 9

Customer sign M0 7PAEDP HIWIN CONFIDENTIAL
-| XU. X =, oo
X s o & s BB HEREHT , REEN
I 1
° 1407 0.t 1T 1457 ! (RA-BREKE) PF Number : \
| ~
FF: A\ . . PIANE | s Wi EREE BEE (L)
40(TYP
4102(;YP) 340=120 4-M4x0.7Px8DP 12(5 ! 3x40=120 4-M4x0.7Px8DP - ]
2xN-@5.5 THRU, @10x6DP 5m or TmSiE HEAmMBEELEE . For HIWIN drive 5m or 7TmEE H3MBHELE  For HIWIN drive K Digital 0.1 pm optical +1um +2um
@8 H7 x8DP - (2m or 4m) — I (2m or 4m)
) 111.7 jH: :m: @ﬁ/ jH: :m: ﬂﬁ 28 H7 x8DP G Digital 1 um optical 3 um +6 um
2 10 2 A
! f— _é + + S + 3] ! + + S 3+ . .
— o T ™ T ] T z ™o E Digital 1 um magnetic +3pm +6 um
1< | X i
O 0| [splf=>] © "N _ _ _ _ _ _ | o <
9T S -® mary | o | A RY e
5 ‘é& | ) iy B(kg)
. =E °. . N N T 1 7T , N ) LT | N [LA [ LB [LC | A B
] gg ry 4»18 (’a\ I3 - I 3 3 - T + +
5 185 1100 | 1140 | 2030 19 [1964| 55 |[1920 (1963 | 600 | 77.5
8-M5x0.8Px10DP
—_— 7 50 236 50 17 50 236 50
BROWN _g 12~24V 370 8-M5x0.8Px10DP/ 370
e oot T30(TVP) 558 F7x100P 558 F7xT0DP 1150 | 1190 [2080| 19 [2014| 80 |1920|2013 | 600 | 79.1
" - . (N-3)x120=LC B
- LA 33 1200 | 1240 |2130| 19 [2064| 105 | 1920 [ 2063 | 600 | 80.7
(AiENEN NC?;%EQNHEMJ_iE) X1+ Direction —=> <— X2+ Direction
10(Stoppen ST+10 (+Stoppen) LT 1250 | 1290 |2180| 19 [2114] 130 [ 1920 (2113 | 840 | 82.2
Motor wiring diagram 5(-limit) ST+5 (+Limit)
o | oo ST(Effective stroke) ll | 240 1300 | 1340 [2230| 19 |2164| 155 1920|2163 | 840 | 83.8
. I | . n
v Black.2 = " o i 1400 | 1440 [2330| 21 |2264| 85 |2160|2263| 840 | 86.9
U Black-1
w Black-3 i . i .. iR . 1500 | 1540 [2430| 21 |2364| 135 | 2160|2363 | 840 | 90.1
GND |Green/Yellow 22
T+ Black-5 240 ST(Effective stroke)
= Blackt ST+5 (+Limit) 5(-limit) 1600 | 1640 [2530| 23 |2464| 65 |2400|2463| 840 | 93.2
Shicld | ST+10 (+Stopper) 10(-Stopper)
(13_‘=ZC %Emtﬂﬁ) 1700 1740 | 2630 23 [2564 | 115 [2400 (2563 | 840 | 96.3
& : 1. B LMSSA-20C200-2- LOITIL(f772)- L) L AR). 3LI(E £2BABA)-S-S-A0. 1800 | 1840 |2730| 25 |2664| 45 |2640 2663|1080 | 99.4
(R RBRAGESERE)
2. BEVADE R :8.55kg, MM D: 145N, BRI D: 580N . Posttoning Measurement Digral 1900 | 1940 |2830| 25 |2764| 95 |2640 2763|1080 [102.6
3 HIWIN BERBREE23°C+1°CTEA. Functon | Sora | colr | UEETE]
4. HERHMERE S LHETRA. Powar v 1 Sown ] 78 : 2000 | 2040 |2930| 25 |[2864| 145 |2640 |2863|1080 [105.7
5. #RIEE HIWIN BBEIES , HEHE ARHEERER. O T
N e e TYPE  |SSA-20C200 (Stroke1100~2000)
. HIELE:%E;?J ﬁlﬂ‘sﬁ _ ! signalst I E,:, YB|‘,I_‘e 163 MMKROSVSTEMCORP CUSTOMER \ DATE |Apr.08.20
7THBEERITTESARERRGS o B > RoUGHYE| FIT% @ —— | SCALE | MATERIAL \ own| EE1AIE
Reference mark a a 8a
Ini-er Inngr:};ield 15 T case R 3V2V W 1:X FINISH \ ‘ \ cHK ﬁﬁﬁ
shield |- T Gutor S| ese | TOLERANCE mm PART NO \ aepo| EEHE R
(ﬁ D'%EW{_‘?%) '|L'Jg 6 ° 30 % 120 120300 300600 6010200 12204000 O‘;EEO NAME DWG NO SHEET
ITEM| DATE [MODIFIED DESCRIPTION ECN NO. CHK APPD +01 |02 | +03 |04 | z05 |08 | 10 | :15 | APPROVAL \ ‘A1 1-1




